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1113[FHFEANS GhH 3 30 0 30
11214 [ED) 4 40 0 40
12018 % Rk 30 450 0 450 15 0 0 0 0 864 0
& 30 450 0 450
1203[F ¥Ry [EH 70 700 0 700 10 0 0 0 0 648 0
& 87 870 0 870
1205[[F>NAE [EE 1127 451 451 0 0.4 140 0 70 0 0 0
fahel 300 60 0 60 0.2 0 0 0 92 0 81
GhH 1427 511 451 60
1207| B & [ED) 883 199 199 0
1209[B & Bl 5 15 0 15 3 0 0 0 1728 0 1620
& 5 15 0 15
1213[125 =0 1500 150 0 150 0.1 0 0 0 0 22 0
& 1500 150 0 150
1301 [HF mE 23 46 0 46 2 0 0 0 756 0 702
=0 2000 600 0 600 0.3 0 0 0 0 86 0
= 28 140 0 140 5 0 0 0 0 1296 0
12 hel 10 40 0 40 4 0 0 0 0 1512 0
(&) 2061 826 0 826
1311[FRE BEX 63 252 0 252 4 0 0 0 0 1458 0
(&) 63 252 0 252
1321 [HA R mE 100 500 0 500 5 0 0 0 1944 0 1296
BiE 90 450 0 450 5 0 0 0 1782 0 1566
=0 56 280 0 280 5 0 0 0 1728 0 1188
=i 30 150 0 150 5 0 0 0 0 1566 0
Eh 276 1380 0 1380
13B1[E—<>  [&5 720 108 0 108 0.15 0 0 0 86 0 76
(&) 720 108 0 108
1353| Tk =5 90 9 0 9 0.1 0 0 0 162 0 97
Eh 90 9 0 9
1403 | KB = =) 10 10 0 10 1 0 0 0 0 1404 0
Eh 56 67 0 67
1407 |EBHE FogRL 40 80 0 80 2 0 0 0 1620 0 540
Eh 40 80 0 80
1501 [HE =) 10 50 0 50 5 0 0 0 1512 0 1404
Eh 10 50 0 50
1541 [E& EE 300 3000 0 3000 10 0 0 0 1728 0 1296
Eh 302 3040 0 3040
1603[EJL)—  [3E 3 30 0 30 10 0 0 0 5076 0 4860
Eh 3 30 0 30
1609[F7avaly)  [EJI 20 120 0 120 6 0 0 0 3780 0 2808
Eh 20 120 0 120
1611[LBR GhH 10 100 0 100
1612| =L AR [GD) 4 18 0 18
1627[2=k=F _ [&EJI 360 72 0 72 0.2 0 0 0 0 108 0
S 45 135 0 135 3 0 0 0 1404 0 1350
(&) 529 239 0 239
1705| T A= =0 180 14 0 14 0.08 0 0 0 0 108 0
=0 9 36 0 36 4 0 0 0 0 5616 0
Gh 193 66 0 66
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1807|#8E =% 1200 240 0 240 0.2 0 0 0 81 0 70
f=554 150 45 0 45 0.3 0 0 0 0 89 0
& 1350 285 0 285
1809[L&L EH 750 75 0 75 0.1 0 0 0 0 38
EF 1800 360 0 360 0.2 0 0 0 89 0 81
(&) 2550 435 0 435
* S EEET * 24085 18114 1101 17013
2731|F K BEX 22 374 0 374 17 0 0 0 0 7020 0
& 22 374 0 374
2811|& 12 40 10 0 10 0.25 0 0 0 400 0 367
X 100 25 0 25 0.25 0 0 0 0 346 0
GhH 140 35 0 35
* S EEET * 324 818 0 818




